REVUE D'ANALYSE NUMÉRIQUE ET DE THÉORIE DE L'APPROXIMATION Rev. Anal. Numér. Théor. Approx., vol. 39 (2010) no. 2, pp. 176-183 ictp.acad.ro/jnaat

OPTIMAL INEQUALITIES RELATED TO THE LOGARITHMIC, IDENTRIC, ARITHMETIC AND HARMONIC MEANS[‡]

WEI-FENG XIA* and YU-MING CHU^\dagger

Abstract. The logarithmic mean L(a, b), identric mean I(a, b), arithmetic mean A(a, b) and harmonic mean H(a, b) of two positive real values a and b are defined by

$$L(a,b) = \begin{cases} \frac{b-a}{\log b - \log a}, & a \neq b, \\ a, & a = b, \end{cases}$$
$$I(a,b) = \begin{cases} \frac{1}{e} \left(\frac{b^b}{a^a}\right)^{\frac{1}{b-a}}, & a \neq b, \\ a, & a = b, \end{cases}$$

 $A(a,b) = \frac{a+b}{2}$ and $H(a,b) = \frac{2ab}{a+b}$, respectively. In this article, we answer the questions: What are the best possible parameters $\alpha_1, \alpha_2, \beta_1$ and β_2 , such that $\alpha_1 A(a, b) + (1 - \alpha_1) H(a, b) \leq L(a, b) \leq \beta_1 A(a, b) + \beta_1 A(a, b) \leq \beta_1$ $(1 - \beta_1)H(a, b)$ and $\alpha_2 A(a, b) + (1 - \alpha_2)H(a, b) \leq I(a, b) \leq \beta_2 A(a, b) + (1 - \alpha_2)H(a, b)$ β_2)H(a, b) hold for all a, b > 0?

MSC 2000. 26E60.

Keywords. Logarithmic mean, identric mean, arithmetic mean, harmonic mean.

1. INTRODUCTION

The logarithmic mean L(a, b) and identric mean I(a, b) of two positive real values a and b are defined by

(1.1)
$$L(a,b) = \begin{cases} \frac{b-a}{\log b - \log a}, & a \neq b, \\ a, & a = b \end{cases}$$

^{*} School of Teacher Education, Huzhou Teachers College, Huzhou 313000, Zhejiang, China, e-mail: xwf212@hutc.zj.cn.

[†]Department of Mathematics, Huzhou Teachers College, Huzhou 313000, Zhejiang, China, e-mail: chuyuming@hutc.zj.cn.

 $^{^\}ddagger$ The work of the first author has been supported by the Natural Science Foundation of Zhejiang Province (Grant no. Y7080185) and the work of the second author has been supported by the Natural Science Foundation (Grant no. 11071069) and the Innovation Team Foundation of the Department of Education of Zhejiang Province (Grant no. T200924).

and

(1.2)
$$I(a,b) = \begin{cases} \frac{1}{e} \left(\frac{b^b}{a^a}\right)^{\frac{1}{b-a}}, & a \neq b, \\ a, & a = b, \end{cases}$$

respectively. In the recent past, both mean values have been the subject of intensive research. In particular, many remarkable inequalities for logarithmic mean or identric mean can be found in the literature [1–25]. It might be surprising that the logarithmic mean has applications in physics, economics, and even in meteorology [26–28]. In [26] the authors study a variant of Jensen's functional equation involving L(a, b), which appears in a heat conduction problem.

The power mean $M_p(a, b)$ of order p is defined by

$$M_p(a,b) = \begin{cases} \left(\frac{a^p + b^p}{2}\right)^{\frac{1}{p}}, & p \neq 0, \\ \sqrt{ab}, & p = 0. \end{cases}$$

If we denote by $A(a,b) = \frac{1}{2}(a+b)$, $G(a,b) = \sqrt{ab}$ and $H(a,b) = \frac{2ab}{a+b}$ the arithmetic mean, geometric mean and harmonic mean of two positive numbers a and b, respectively, then it is well-known that

(1.3)
$$\min\{a,b\} \le H(a,b) = M_{-1}(a,b) \le G(a,b) = M_0(a,b)$$
$$\le L(a,b) \le I(a,b) \le A(a,b) = M_1(a,b) \le \max\{a,b\},$$

and all inequalities are strict for $a \neq b$.

In [9, 12, 30] the authors present bounds for L(a, b) in terms of G(a, b) and A(a, b).

$$G^{\frac{2}{3}}(a,b)A^{\frac{1}{3}}(a,b) < L(a,b) < \frac{2}{3}G(a,b) + \frac{1}{3}A(a,b)$$
with a (b)

for all a, b > 0 with $a \neq b$.

The following companion of (1.3) provides inequalities for the geometric and arithmetic means of L(a, b) and I(a, b). A proof can be found in [7].

$$G^{\frac{1}{2}}(a,b)A^{\frac{1}{2}}(a,b) < L^{\frac{1}{2}}(a,b)I^{\frac{1}{2}}(a,b) < \frac{1}{2}L(a,b) + \frac{1}{2}I(a,b) < \frac{1}{2}G(a,b) + \frac{1}{2}A(a,b)$$
 for all $a,b > 0$ with $a \neq b$.

The following bounds for L(a,b), I(a,b), $(L(a,b)I(a,b))^{\frac{1}{2}}$, and $\frac{L(a,b)+I(a,b)}{2}$ in terms of power means are proved in [4, 6–8, 10, 24, 30].

$$\begin{split} M_0(a,b) &< L(a,b) < M_{\frac{1}{3}}(a,b), \\ M_{\frac{2}{3}}(a,b) &< I(a,b) < M_{\log 2}(a,b), \\ M_0(a,b) &< L^{\frac{1}{2}}(a,b) I^{\frac{1}{2}}(a,b) < M_{\frac{1}{2}}(a,b) \end{split}$$

and

$$M_{\frac{\log 2}{1 + \log 2}}(a, b) < \frac{1}{2}L(a, b) + \frac{1}{2}I(a, b) < M_{\frac{1}{2}}(a, b)$$

for all a, b > 0 with $a \neq b$.

The main purpose of this paper is to answer the questions: What are the best possible parameters $\alpha_1, \alpha_2, \beta_1$ and β_2 , such that $\alpha_1 A(a, b) + (1 - \alpha_1)H(a, b) \leq L(a, b) \leq \beta_1 A(a, b) + (1 - \beta_1)H(a, b)$ and $\alpha_2 A(a, b) + (1 - \alpha_2)H(a, b) \leq I(a, b) \leq \beta_2 A(a, b) + (1 - \beta_2)H(a, b)$ hold for all a, b > 0?

2. LEMMAS

LEMMA 2.1. The function $g(t) = (t^2 + 4t + 1) \log t - 3t^2 + 3 > 0$ for $t \in (1, +\infty)$.

Proof. By simple computation we have

(2.1)
$$g(1) = 0,$$

 $g'(t) = (2t+4)\log t - 5t + \frac{1}{t} + 4,$

(2.2)
$$g'(1) = 0$$

$$g'(1) = 0,$$

$$g''(t) = 2\log t + \frac{4}{t} - \frac{1}{t^2} - 3,$$

(2.3)
$$g''(1) = 0$$

and

(2.4)
$$g'''(t) = \frac{2}{t} - \frac{4}{t^2} + \frac{2}{t^3} = \frac{2}{t^3}(t-1)^2.$$

Equation (2.4) leads to g'''(t) > 0 for $t \in (1, +\infty)$, then g''(t) is strictly increasing in $(1, +\infty)$. Hence g(t) > 0 for $t \in (1, +\infty)$ follows from the monotonicity of g''(t) and (2.1)–(2.3).

LEMMA 2.2. The function $g(t) = (5t^3 + 19t^2 + 19t + 5)\log t - 14t^3 - 6t^2 + 6t + 14 > 0$ for $t \in (1, +\infty)$.

Proof. By elementary computation we get

(2.5)
$$g(1) = 0,$$

 $g'(t) = (15t^2 + 38t + 19) \log t - 37t^2 + 7t + \frac{5}{t} + 25,$

(2.6)
$$g'(1) = 0,$$

$$g''(t) = (30t+38)\log t - 59t + \frac{19}{t} - \frac{5}{t^2} + 45,$$

(2.7)
$$g''(1) = 0,$$

 $g'''(t) = 30 \log t + \frac{38}{t} - \frac{19}{t^2} + \frac{10}{t^3} - 29,$

(2.8)
$$g'''(1) = 0$$

and

(2.9)
$$g^{(4)}(t) = \frac{1}{t^4}(t-1)(30t^2 - 8t + 30).$$

Equation (2.9) leads to $g^{(4)}(t) > 0$ for $t \in (1, +\infty)$, then g'''(t) is strictly increasing in $(1, +\infty)$. Hence g(t) > 0 for $t \in (1, +\infty)$ follows from the monotonicity of g'''(t) and (2.5)–(2.8).

LEMMA 2.3. If $g(t) = -[t^3 + (2e - 1)t^2 + (2e - 1)t + 1]\log t + (2e - 2)t^3 + (-2e+6)t^2 + (2e-6)t - 2e+2$, then there exists $\lambda \in (1, +\infty)$ such that g(t) > 0 for $t \in (1, \lambda)$ and g(t) < 0 for $t \in (\lambda, +\infty)$.

Proof. Elementary computation yields

(2.10)
$$g(1) = 0, \quad \lim_{t \to +\infty} g(t) = -\infty,$$

 $g'(t) = -[3t^2 + (4e - 2)t + 2e - 1]\log t + (6e - 7)t^2 + (-6e + 13)t - \frac{1}{t} - 5,$

(2.11)
$$g'(1) = 0, \quad \lim_{t \to +\infty} g'(t) = -\infty,$$

$$g''(t) = -(6t + 4e - 2)\log t + (12e - 17)t - \frac{2e - 1}{t} + \frac{1}{t^2} - 10e + 15,$$

(2.12)
$$g''(1) = 0, \quad \lim_{t \to +\infty} g''(t) = -\infty,$$

$$g'''(t) = -6\log t - \frac{4e-2}{t} + \frac{2e-1}{t^2} - \frac{2}{t^3} + 12e - 23,$$

(2.13)
$$g'''(1) = 10e - 24 > 0, \quad \lim_{t \to +\infty} g'''(t) = -\infty,$$

(2.14)
$$g^{(4)}(t) = -\frac{1}{t^4}(t-1)[6t^2 + (8-4e)t + 6].$$

Equation (2.14) implies that $g^{(4)}(t) < 0$ for $t \in (1, +\infty)$, then g'''(t) is strictly decreasing in $(1, +\infty)$.

From (2.13) and the monotonicity of g'''(t) we clearly see that there exists $t_1 \in (1, +\infty)$, such that g'''(t) > 0 for $t \in (1, t_1)$ and g'''(t) < 0 for $t \in (t_1, +\infty)$. Hence we know that g''(t) is strictly increasing in $[1, t_1)$ and strictly decreasing in $[t_1, +\infty)$.

The monotonicity of g''(t) and (2.12) imply that there exists $t_2 \in (1, +\infty)$, such that g''(t) > 0 for $t \in (1, t_2)$ and g''(t) < 0 for $t \in (t_2, +\infty)$. Hence we know that g'(t) is strictly increasing in $[1, t_2)$ and strictly decreasing in $[t_2, +\infty)$.

From (2.11) and the monotonicity of g'(t) we clearly see that there exists $t_3 \in (1, +\infty)$, such that g'(t) > 0 for $t \in (1, t_3)$ and g'(t) < 0 for $t \in (t_3, +\infty)$. Hence we conclude that g(t) is strictly increasing in $[1, t_3)$ and strictly decreasing in $[t_3, +\infty)$.

The monotonicity of g(t) and (2.10) imply that there exists $\lambda \in (1, +\infty)$, such that g(t) > 0 for $t \in (1, \lambda)$ and g(t) < 0 for $t \in (\lambda, +\infty)$.

3. MAIN RESULTS

THEOREM 3.1. The double inequality

$$\alpha_1 A(a,b) + (1 - \alpha_1) H(a,b) \le L(a,b) \le \beta_1 A(a,b) + (1 - \beta_1) H(a,b)$$

holds for all a, b > 0 if and only if $\alpha_1 \leq 0$ and $\beta_1 \geq \frac{2}{3}$.

Proof. If a = b, then $\alpha_1 A(a, b) + (1 - \alpha_1) H(a, b) = L(a, b) = \beta_1 A(a, b) + (1 - \beta_1) H(a, b) = a$ for all $\alpha_1, \beta_1 \in \mathbb{R}$. Next, we assume that $a \neq b$.

Firstly, we prove that $H(a,b) < L(a,b) < \frac{2}{3}A(a,b) + \frac{1}{3}H(a,b)$. From (1.3) we know that H(a,b) < L(a,b) is true, so we only need to prove that $L(a,b) < \frac{2}{3}A(a,b) + \frac{1}{3}H(a,b)$.

Without loss of generality, we assume that a > b. Let $t = \frac{a}{b} > 1$, then simple computation leads to

(3.1)
$$\frac{2}{3}A(a,b) + \frac{1}{3}H(a,b) - L(a,b) = b\left[\frac{t+1}{3} + \frac{2t}{3(t+1)} - \frac{t-1}{\log t}\right] \\ = \frac{b[(t^2+4t+1)\log t - 3t^2+3]}{3(t+1)\log t}.$$

Therefore, $L(a,b) < \frac{2}{3}A(a,b) + \frac{1}{3}H(a,b)$ follows from Lemma 2.1 and (3.1). Secondly, we prove that the parameters $\alpha_1 \leq 0$ and $\beta_1 \geq \frac{2}{3}$ cannot be improved.

For any $0 < \varepsilon < 1$ and 0 < x < 1, from (1.1) we have

(3.2)
$$\lim_{x \to 0} [\varepsilon A(1,x) + (1-\varepsilon)H(1,x) - L(1,x)] =$$
$$= \lim_{x \to 0} \left[\varepsilon \cdot \frac{1+x}{2} + (1-\varepsilon) \cdot \frac{2x}{1+x} - \frac{x-1}{\log x} \right] = \frac{\varepsilon}{2}$$

Equation (3.2) implies that for any $0 < \varepsilon < 1$, there exists $0 < \delta = \delta(\varepsilon) < 1$, such that $\varepsilon A(1, x) + (1 - \varepsilon)H(1, x) > L(1, x)$ for $x \in (0, \delta)$. Hence the parameter $\alpha_1 \leq 0$ cannot be improved.

Next, for any $0 < \varepsilon < 1$ and 0 < x < 1, from (1.1) we get

(3.3)
$$L(1+x,1) - \left[\left(\frac{2}{3} - \varepsilon\right) A(1+x,1) + \left(\frac{1}{3} + \varepsilon\right) H(1+x,1) \right] = \frac{x}{\log(1+x)} - \frac{\left(\frac{2}{3} - \varepsilon\right) x^2 + 4x + 4}{2(x+2)} = \frac{h(x)}{2(x+2)\log(1+x)},$$

where $h(x) = 2x(x+2) - \left[\left(\frac{2}{3} - \varepsilon\right)x^2 + 4x + 4\right]\log(1+x)$. Let $x \to 0$ and using Taylor expansion we obtain

(3.4)
$$h(x) = \varepsilon x^3 + o(x^3).$$

Equations (3.3) and (3.4) imply that for any $0 < \varepsilon < 1$, there exists $0 < \delta = \delta(\varepsilon) < 1$, such that $L(1+x,1) > (\frac{2}{3}-\varepsilon)A(1+x,1) + (\frac{1}{3}+\varepsilon)H(1+x,1)$ for $x \in (0,\delta)$. Hence the parameter $\beta_1 \geq \frac{2}{3}$ cannot be improved.

THEOREM 3.2. The double inequality

$$\alpha_2 A(a,b) + (1 - \alpha_2) H(a,b) \le I(a,b) \le \beta_2 A(a,b) + (1 - \beta_2) H(a,b)$$

holds for all a, b > 0 if and only if $\alpha_2 \leq \frac{2}{e}$ and $\beta_2 \geq \frac{5}{6}$.

Proof. If a = b, then $\alpha_2 A(a,b) + (1 - \alpha_2)H(a,b) = I(a,b) = \beta_2 A(a,b) + (1 - \beta_2)H(a,b) = a$ for all $\alpha_2, \beta_2 \in \mathbb{R}$. Next, we assume that $a \neq b$.

Firstly, we prove that $\frac{2}{e}A(a,b) + (1-\frac{2}{e})H(a,b) < I(a,b)$ and the parameter $\alpha_2 \leq \frac{2}{e}$ cannot be improved.

Without loss of generality, we assume that a > b. Let $t = \frac{a}{b} > 1$, then

(3.5)
$$I(a,b) - \left[\frac{2}{e}A(a,b) + (1-\frac{2}{e})H(a,b)\right] = \frac{b}{e}\left[t^{\frac{t}{t-1}} - (t+1) - (e-2)\frac{2t}{t+1}\right].$$

Let $f(t) = \log t^{\frac{t}{t-1}} - \log \left[(t+1) + (e-2)\frac{2t}{t+1} \right]$, then elementary computation yields

(3.6)
$$\lim_{t \to 1} f(t) = 0, \quad \lim_{t \to +\infty} f(t) = 0$$

and

(3.7)
$$f'(t) = \frac{g(t)}{(t+1)(t-1)^2[t^2+(2e-2)t+1]},$$

where $g(t) = -[t^3 + (2e - 1)t^2 + (2e - 1)t + 1]\log t + (2e - 2)t^3 + (-2e + 6)t^2 + (2e - 6)t - 2e + 2.$

From (3.7) and Lemma 2.3 we know that there exists $\lambda \in (1, +\infty)$, such that f(t) is strictly increasing in $(1, \lambda)$ and strictly decreasing in $(\lambda, +\infty)$. Then (3.6) and the monotonicity of f(t) imply that f(t) > 0 for $t \in (1, +\infty)$, and from (3.5) we know that $I(a, b) > \frac{2}{e}A(a, b) + (1 - \frac{2}{e})H(a, b)$ for a, b > 0 with $a \neq b$.

Next, we prove that the parameter $\alpha_2 \leq \frac{2}{e}$ cannot be improved. For any $0 < \varepsilon < 1$ and 0 < x < 1, from (1.2) we have

(3.8)
$$\lim_{x \to 0} \left[\left(\frac{2}{e} + \varepsilon\right) A(1, x) + \left(1 - \frac{2}{e} - \varepsilon\right) H(1, x) - I(1, x) \right] = \\ = \lim_{x \to 0} \left[\left(\frac{2}{e} + \varepsilon\right) \cdot \frac{1 + x}{2} + \left(1 - \frac{2}{e} - \varepsilon\right) \cdot \frac{2x}{1 + x} - \frac{1}{e} x^{\frac{x}{x - 1}} \right] \\ = \frac{\varepsilon}{2}.$$

Equation (3.8) implies that for any $0 < \varepsilon < 1$, there exists $0 < \delta = \delta(\varepsilon) < 1$, such that $(\frac{2}{e} + \varepsilon)A(1, x) + (1 - \frac{2}{e} - \varepsilon)H(1, x) > I(1, x)$ for $x \in (0, \delta)$. Hence the parameter $\alpha_2 \leq \frac{2}{e}$ cannot be improved.

Secondly, we prove that $I(a,b) < \frac{5}{6}A(a,b) + \frac{1}{6}H(a,b)$ and the parameter $\beta_2 \geq \frac{5}{6}$ cannot be improved.

Let $t = \frac{a}{b} > 1$, then from (1.2) we have

(3.9)
$$\frac{5}{6}A(a,b) + \frac{1}{6}H(a,b) - I(a,b) = b \left\lfloor \frac{5t^2 + 14t + 5}{12(t+1)} - \frac{1}{6}t^{\frac{t}{t-1}} \right\rfloor$$

Let $f(t) = \log \left\lfloor \frac{5t^2 + 14t + 5}{12(t+1)} \right\rfloor - \log \left(\frac{1}{6}t^{\frac{t}{t-1}} \right)$, then
(3.10) $f(1) = 0$

and

(3.11)
$$f'(t) = \frac{g(t)}{(t-1)(t^2-1)(5t^2+14t+5)},$$

where $g(t) = (5t^3 + 19t^2 + 19t + 5)\log t - 14t^3 - 6t^2 + 6t + 14$.

From Lemma 2.2 and (3.11) together with (3.10) we clearly see that f(t) > 0 for $t \in (1, +\infty)$. Hence from (3.9) we know that $\frac{5}{6}A(a, b) + \frac{1}{6}H(a, b) > I(a, b)$ for a, b > 0 with $a \neq b$.

Next, we prove that the parameter $\beta_2 \geq \frac{5}{6}$ cannot be improved. For any $0 < \varepsilon < 1$ and 0 < x < 1, from (1.2) we get

(3.12)
$$I(1+x,1) - \left[\left(\frac{5}{6} - \varepsilon \right) A(1+x,1) + \left(\frac{1}{6} + \varepsilon \right) H(1+x,1) \right] = \frac{1}{e} (1+x)^{\frac{1+x}{x}} - \frac{\left(\frac{5}{6} - \varepsilon \right) x^2 + 4x + 4}{2(2+x)} = \frac{h(x)}{2(2+x)},$$

where $h(x) = \frac{2}{e}(2+x)(1+x)\frac{1+x}{x} - (\frac{5}{6}-\varepsilon)x^2 - 4x - 4$. Let $x \to 0$ and using Taylor expansion we obtain

(3.13)
$$h(x) = 2(2+x) \left[1 + \frac{1}{2}x - \frac{1}{24}x^2 + o(x^2) \right] - \left(\frac{5}{6} - \varepsilon \right) x^2 - 4x - 4$$
$$= \varepsilon x^2 + o(x^2).$$

Equations (3.12) and (3.13) imply that for any $0 < \varepsilon < 1$, there exists $0 < \delta = \delta(\varepsilon) < 1$, such that $I(1+x,1) > (\frac{5}{6} - \varepsilon)A(1+x,1) + (\frac{1}{6} + \varepsilon)H(1+x,1)$ for $x \in (0, \delta)$. Hence the parameter $\beta_2 \geq \frac{5}{6}$ cannot be improved.

REFERENCES

- M. TOMINAGA, Specht's ratio and logarithmic mean in the Young inequality, Math. Inequal. Appl., 7(1), pp. 113–125, 2004.
- [2] F. QI and B.N. GUO, An inequality between ratio of the extended logarithmic means and ratio of the exponential means, Taiwanese J. Math., 7(2), pp. 229–237, 2003.
- [3] J. MALONEY, J. HEIDEL and J. PEČARIĆ, A reverse Hölder type inequality for the logarithmic mean and generalizations, J. Austral. Math. Soc. Ser. B, 41(3), pp. 401– 409, 2000.
- [4] A.O. PITTENGER, The symmetric, logarithmic and power means, Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz., 678–715, pp. 19-23, 1980.
- [5] P.S. BULLEN, D.S. MITRINOVIĆ and P.M. VASIĆ, Means and Their inequalities, Dordrecht: D. Reidel Publishing Co., 1988.
- [6] H. ALZER, Ungleichungen für $(e/a)^a (b/e)^b$, Elem. Math., 40, pp. 120–123, 1985.

- [7] H. ALZER, Ungleichungen f
 ür Mittelwerte, Arch. Math. (Basel), 47(5), pp. 422–426, 1986.
- [8] F. BURK, Notes: The geometric, logarithmic, and arithmetic mean inequality, Amer. Math. Monthly, 94(6), pp. 527–528, 1987.
- [9] B.C. CARLSON, The logarithmic mean, Amer. Math. Monthly, 79, pp. 615–618, 1972.
- [10] T.P. LIN, The power mean and the logarithmic mean, Amer. Math. Monthly, 81, pp. 879–883, 1974.
- J. SÁNDOR, On the identric and logarithmic means, Aequationes Math., 40(2–3), pp. 261–270, 1990.
- [12] J. SÁNDOR, A note on some inequalities for means, Arch. Math. (Basel), 56(5), pp. 471–473, 1991.
- [13] J. SÁNDOR, On certain inequalities for means, J. Math. Anal. Appl., 189(2), pp. 602– 606, 1995.
- [14] J. SÁNDOR, On refinements of certain inequalities for means, Arch. Math. (Brno), 31(4), pp. 279–282, 1995.
- [15] J. SÁNDOR, On certain inequalities for means II, J. Math. Anal. Appl., 199(2), pp. 629– 635, 1996.
- [16] J. SÁNDOR, On certain inequalities for means III, Arch. Math. (Basel), 76(1), pp. 34–40, 2001.
- [17] J. SÁNDOR and I. RASA, Inequalities for certain means in two arguments, Nieuw Arch. Wisk. (4), 15(1–2), pp. 51–55, 1997.
- [18] J. SÁNDOR and T. TRIF, Some new inequalities for means of two arguments, Int. J. Math. Math. Sci., 25(8), pp. 525–532, 2001.
- [19] O. KOUBA, New bounds for the identric mean of two arguments, J. Inequal. Pure Appl. Math., 9(3), Article 71, 6 pp, 2008.
- [20] J. CHEN and B. HU, The identric mean and the power mean inequalities of Ky Fan type, Facta Univ. Ser. Math. Inform., 4, pp. 15–18, 1989.
- [21] H.J. SEIFFERT, Ungleichungen für einen bestimmten Mittelwert, Nieuw Arch. Wisk. (4), 13(2), pp. 195–198, 1995.
- [22] H.J. SEIFFERT, Ungleichungen für elementare Mittelwerte, Arch. Math. (Basel), 64(2), pp. 129–131, 1995.
- [23] K.B. STOLARSKY, Generalizations of the logarithmic mean, Math. Mag., 48, pp. 87–92, 1975.
- [24] K.B. STOLARSKY, The power and generalized logarithmic means, Amer. Math. Monthly, 87(7), pp. 545–548, 1980.
- [25] M.K. VAMANAMURTHY and M. VUORINEN, Inequalities for means, J. Math. Anal. Appl., 183(1), pp. 155–166, 1994.
- [26] P. KAHLIG and J. MATKOWSKI, Functional equations involving the logarithmic mean, Z. Angew. Math. Mech., 76(7), pp. 385–390, 1996.
- [27] A.O. PITTENGER, The logarithmic mean in n variables, Amer. Math. Monthly, 92(2), pp. 99–104, 1985.
- [28] G. PÓLYA and G. SZEGÖ, Isoperimetric Inequalities in Mathematical Physics, Princeton University Press, Princeton, 1951.
- [29] E.B. LEACH and M.C. SHOLANDER, Extended mean values II, J. Math. Anal. Appl., 92(1), pp. 207–223, 1983.
- [30] H. ALZER and S.L. Qiu, Inequalities for means in two variables, Arch. Math. (Basel), 80(2), pp. 201–215, 2003.

Received by the editors: June 2, 2010.